
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk
lkekU; vè;;u

(fnlacj eSx”khu] tk¡p ijh{kk)

vuqns'k
	 1-	 ijh{kk izkjaHk gksus ds rqjar ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u fy[ksaA
	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fganh vkSj vaxzs”kh nksuksa Hkk"kkvksa esa fy[kk 

gSA izR;sd iz'uka'k esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa 
ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij 
vafdr djuk pkgrs gSaA ;fn vkidks ,slk yxs fd ,d ls 
vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy;s dsoy ,d gh 
izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10.	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ naM ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs

fnukad& 15-12-2024
le;% nks ?kaVs iw.kk±d% 200
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	 1.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
		 dFku&I% 
	 	lwpuk çkS|ksfxdh la'kksèku fu;e] 2023 dsaæ ljdkj dks 

lks'ky ehfM;k ij iQthZ] >wBh vkSj Hkzked lwpukvksa dh 
igpku djus ds fy;s iQSDV psd ;wfuV (FCU) LFkkfir 
djus dk vfèkdkj nsrk gSA

		 dFku&II% 
	 	lwpuk çkS|ksfxdh la'kksèku fu;e] 2023 esa iQsd U;w”k 

dh ifjHkk"kk vLi"V cuh gqbZ gSA
		 dFku&III% 
	 	FCU] Hkkjr ljdkj ls lacafèkr iQsd U;w”k ds çlkj dks 

jksdus vkSj mldk lekèkku djus ds fy;s ,d vkfèkdkfjd 
fudk; gSA

	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 
lgh gS\

	 (a)	 dFku&II vkSj dFku&III nksuksa lgh gSa rFkk nksuksa] 
dFku&I dh O;k[;k djrs gSaA

	 (b)	 dFku&II vkSj dFku&III nksuksa lgh gSa] fdarq mueas 
ls dsoy ,d] dFku&I dh O;k[;k djrk gSA

	 (c)	 dFku&II vkSj dFku&III esa ls dsoy ,d lgh gS 
vkSj og dFku&I dh O;k[;k djrk gSA

	 (d)	 u rks dFku&II] u gh dFku&III lgh gSA
	 2-	fuEufyf[kr dFkuksa ij fopkj dhft;s%
		 dFku&I% 
	 	ukxfjdrk vfèkfu;e] 1955 dh èkkjk 6A dks lokZsPp 

U;k;ky; dh oSèkkfudrk çkIr gSA
		 dFku&II% 
	 	ukxfjdrk vfèkfu;e] 1955 dh èkkjk 6A vle esa jg 

jgs ckaXykns'k vkSj E;k¡ekj ls vk, çokfl;ksa dks Hkkjrh; 
ukxfjdrk çkIr djus dh vuqefr nsrh gSA

	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 
lgh gS\

	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh O;k[;k djrk gSA

	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa] fdarq dFku&II] 
dFku&I dh O;k[;k ugha djrk gSA

	 (c)	 dFku&I lgh gS] fdarq dFku&II lgh ugha gSA
	 (d)	 dFku&I lgh ugha gS] fdarq dFku&II lgh gSA
	 3-	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1-	 lokZsPp U;k;ky; ds vuqlkj Hkkjrh; U;k; lafgrk 

dh èkkjk 498A lcls vfèkd nq#i;ksx fd;s tkus 
okys dkuwuksa esa 'kkfey gSA

	 2-	 Hkkjrh; U;k; lafgrk dh èkkjk 498A ,d ”kekurh 
vkSj laKs; vijkèk gSA

	 1.	 Consider the following statements:
		  Statement I: 
		  The Information Technology (Amendment) Rules, 

2023 empower the central government to establish 
a Fact Check Unit (FCU) to identify fake, false and 
misleading information on social media.

		  Statement II: 
	 	 The definition of fake news remains ambiguous in 

the Information Technology (Amendment) Rules, 
2023.

		  Statement III: 
	 	 The FCU is an official body tasked with preventing 

and addressing the spread of fake news related to 
the Government of India.

		  Which of the following is correct in respect of the 
above statements?

	 (a)	 Both Statement II and Statement III are 
correct and both of them explain Statement I.

	 (b)	 Both Statement II and Statement III are 
correct, but only one of them explains 
Statement I.

	 (c)	 Only one of Statement II and Statement III is 
correct and that explains Statement I.

	 (d)	 Neither Statement II nor Statement III is 
correct.

	 2.	 Consider the following statements:
		  Statement I: 
		  Section 6A of the Citizenship Act, 1955, has been 

upheld as constitutional by the Supreme Court.
		  Statement II: 
		  Section 6A of the Citizenship Act, 1955, permits 

migrants from Bangladesh and Myanmar residing 
in Assam to acquire Indian citizenship.

		  Which of the following is correct in respect of the 
above statements?

	 (a)	 Both Statement I and Statement II are correct 
and Statement II explains Statement I.

	 (b)	 Both Statement I and Statement II are correct, 
but Statement II does not explain Statement I.

	 (c)	 Statement I is correct, but Statement II is not 
correct.

	 (d)	 Statement I is not correct, but Statement II is 
correct.

	 3.	 Consider the following statements:
	 1.	 According to the Supreme Court, Section 

498A of the Indian Penal Code is one of the 
most misused laws.

	 2.	 Section 498A of the Indian Penal Code is a 
bailable and cognizable offense.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	 4-	fuEufyf[kr ij fopkj dhft;s%

	 1-	 cpiu cpkvks vkanksyu

	 2-	 CRY (cky vfèkdkj vkSj vki)

	 3-	 çFke

	 4-	 uUgh dyh

	 	mi;ZqDr esa ls fdrus cPpksa ds dY;k.k gsrq dk;Zjr 

NGO gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks

	 (c)	 dsoy rhu	 (d)	 lHkh pkjksa
	 5-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

Hkkjrh; lafoèkku 
ds çkoèkku

fooj.k

1. vuqPNsn&21A 6&14 o"kZ dh vk;q ds lHkh 
cPpksa ds fy;s fu%'kqYd vkSj 
vfuok;Z çkjafHkd f'k{kk dk 
vfèkdkj

2. vuqPNsn&39(F) LokLF; dk vfèkdkj vkSj 
vkfFkZd vko';drk ds 
dkj.k nqO;Zogkj ls eqfDr

3. vuqPNsn&47 iks"k.k] thou Lrj vkSj 
csgrj lkoZtfud LokLF; dk 
vfèkdkj

4. vuqPNsn&51A(k) f'k{kk ds volj çnku djuk 
vfHkHkkod dk dÙkZO; gksuk

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks

	 (c)	 dsoy rhu	 (d)	 lHkh pkjksa
	 6-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 xksydukFk okn (1967) esa dgk x;k fd laln 

ukxfjdksa ds ewy vfèkdkjksa esa Hkh deh dj 

ldrh gSA

	 2-	 ds'kokuan Hkkjrh okn (1973) esa dgk x;k fd 

laln dks lafoèkku ds ewy <k¡ps dks NksM+dj la'kksèku 

djus dh 'kfDr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 4.	 Consider the following:
	 1.	 Bachpan Bachao Andolan
	 2.	 CRY (Child Rights and You)
	 3.	 Pratham
	 4.	 Nanhi Kali

		  How many of the above are NGOs working for 
child welfare?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four

	 5.	 Consider the following pairs:

Provisions of the 
Indian 

Constitution

Description

1. Article&21A Right to free and 
compulsory elementary 
education for children 
aged 6-14 years

2. Article&39(F) Right to health and 
protection from 
exploitation due to 
economic necessity

3. Article&47 Right to nutrition, 
standard of living and 
improved public health

4. Article&51A(k) Duty of parents to 
provide educational 
opportunities

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four

	 6.	 Consider the following statements:
	 1.	 In the Golaknath case (1967), it was stated 

that Parliament can even reduce citizens' 
fundamental rights.

	 2.	 In the Keshavananda Bharati case (1973), it 
was stated that Parliament has the power to 
amend the Constitution except for its basic 
structure.

		  Which of the above statements is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
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	 7-	^esd bu bafM;k igy* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1-	 bl igy dk mn~ns'; fofuekZ.k {ks=k dh lao`f¼ nj 

dks c<+kdj 12&14% çfro"kZ djuk gSA

	 2-	 ^ih,e xfr'kfDr jk"Vªh; ekLVj Iyku*] ^esd bu 

bafM;k* igy dks l{ke cukus ds fy;s mBk, x, 

çeq[k dneksa esa ls ,d gSA

	 3-	 ^oans Hkkjr* jsyxkM+h Hkkjr dh igyh Lons'kh 

lseh&gkbZ LihM jsyxkM+h gS] tks ^esd bu bafM;k* 

igy dk mnkgj.k gSA

	 	mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3
	 8-	fuEufyf[kr ij fopkj dhft;s%

	 1-	 xsjcsjk

	 2-	 dkjus'ku

	 3-	 V~;wcjkst

	 	mi;ZqDr esa ls fdruh ÝyksjhdYpj lacaèkh iQlysa xzhu 

gkml esa mxkbZ tkrh gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks

	 (c)	 lHkh rhu	 (d)	 dksbZ ugha

	 9-	vesfjdh Ñf"k foHkkx ds vuqlkj] o"kZ 2023&24 esa 
dkSu&lk ns'k fo'o dk 'kh"kZ phuh mRiknd jgk gS\

	 (a)	 phu	 (b)	 Hkkjr
	 (c)	 esfDldks	 (d)	 czk”khy
	 10-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 çLrkfor ^Øwt bafM;k fe'ku* iksr volajpuk dks 

laof¼Zr djsxkA

	 2-	 e>xk¡o MkWd fyfeVsM Hkkjr dk lcls cM+k iksr 

fuekZrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	 11-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

'kkL=kh; Hkk"kk,¡ ?kksf"kr o"kZ
1. ey;kye 2013
2. caxkyh 2024
3. çkÑr 2024
4. ikyh 2024

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks

	 (c)	 dsoy rhu	 (d)	 lHkh pkjksa

	 7.	 Consider the following statements with reference 
to the ‘Make in India’ initiative:

	 1.	 The objective of this initiative is to increase 
the growth rate of the manufacturing sector 
to 12–14% annually.

	 2.	 The ‘PM Gati Shakti National Master Plan’ 
is one of the major steps taken to enable the 
‘Make in India’ initiative.

	 3.	 The ‘Vande Bharat’ train is India’s first 
indigenous semi-high-speed train, which is 
an example of the ‘Make in India’ initiative.

		  Which of the above statements is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 8.	 Consider the following:
	 1.	 Gerbera
	 2.	 Carnation
	 3.	 Tuberose

	 	 How many of the above floriculture crops are 
grown in greenhouses?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None

	 9.	  According to the U.S. Department of Agriculture, 
which country was the world’s top sugar producer 
in 2023–24?

	 (a)	 China	 (b)	 India
	 (c)	 Mexico	 (d)	 Brazil

	 10.	 Consider the following statements:
	 1.	 The proposed ‘Cruise India Mission’ will 

enhance port infrastructure.
	 2.	 Mazagon Dock Limited is India’s largest 

shipbuilder.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 11.	 Consider the following pairs:

Classical 
Languages

Year of 
Declaration

1. Malayalam 2013
2. Bengali 2024
3. Prakrit 2024
4. Pali 2024

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four
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	 12-	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1-	 o"kZ 2004 esa 'kkL=kh; fLFkfr gsrq Hkk"kkvksa dk 

ewY;kadu djus ds fy;s Hkk"kk fo'ks"kK lfefr xfBr 
dh xbZ FkhA

	 2-	 'kkL=kh; Hkk"kk,¡ Hkfo"; dh ihf<+;ksa ds fy;s çkphu 
lkfgfR;d èkjksgj dh lqj{kk gksrh gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2
	 13-	fuEufyf[kr ij fopkj dhft;s%
	 1-	 vH;kl 'kfDr
	 2-	 vH;kl o#.k
	 3-	 vH;kl x#M+
	 	mi;ZqDr esa ls fdrus Hkkjr&izQk¡l ds chp la;qDr lSU; 

vH;kl gSa\
	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 lHkh rhu	 (d)	 dksbZ ugha
	 14-	^Hkkjr&Jhyadk lacaèk* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1-	 Hkkjr Jhyadk esa rfeyksa ds fy;s jktuhfrd 

lekèkku ds lkFk 13osa la'kksèku ds dk;kZUo;u dh 
vko';drk dk leFkZu djrk gSA

	 2-	 o"kZ 2024 esa Hkkjr us mÙkjh Jhyadk esa gkbfczM fo|qr~ 
ifj;kstuk LFkkfir djus ij lgefr O;Dr dhA

	 3-	 Hkkjr vkSj Jhyadk ds eè; eqDr O;kikj le>kSrk 
LFkkfir gSA

	 4-	 Hkkjr vkSj Jhyadk ^fe=k 'kfDr* rFkk ^SLINEX* 
la;qDr lSU; vH;kl vk;ksftr djrs gSaA

	 	mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 1] 2 vkSj 4
	 (b)	 dsoy 2] 3 vkSj 4
	 (c)	 dsoy 1] 3 vkSj 4
	 (d)	 1] 2] 3 vkSj 4
	 15-	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1-	 Hkkjr&eè; iwoZ&;wjksi vkfFkZd xfy;kjk (IMEC) 

dk mn~ns'; Los”k ugj ij fuHkZjrk de djuk gSA
	 2-	 Hkkjr ,f'k;k esa b”kjk;y dk lcls cM+k O;kikfjd 

lk>snkj gSA
	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2

	 12.	 Consider the following statements:
	 1.	 In 2004, a committee of linguists was 

constituted to evaluate languages for 
classical status.

	 2.	 Classical languages preserve ancient literary 
heritage for future generations.

		  Which of the above statements is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 13.	 Consider the following:
	 1.	 Abhyas Shakti
	 2.	 Abhyas Varuna
	 3.	 Abhyas Garuda

		  How many of the above are joint military exercises 
between India and France?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None

	 14.	 With reference to ‘India-Sri Lanka Relations’, 
consider the following statements:

	 1.	 India supports the implementation of the 13th 
Amendment along with a political solution 
for Tamils in Sri Lanka.

	 2.	 In 2024, India agreed to establish a hybrid 
power project in northern Sri Lanka.

	 3.	 A Free Trade Agreement exists between 
India and Sri Lanka.

	 4.	 India and Sri Lanka conduct joint military 
exercises, Mitra Shakti and SLINEX.

		  Which of the above statements is/are correct?
	 (a)	 1, 2 and 4 only
	 (b)	 2, 3 and 4 only
	 (c)	 1, 3 and 4 only
	 (d)	 1, 2, 3 and 4

	 15.	 Consider the following statements:
	 1.	 The India-Middle East-Europe Economic 

Corridor (IMEC) aims to reduce dependence 
on the Suez Canal.

	 2.	 India is Israel’s largest trading partner in 
Asia.

		  Which of the above statements is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
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	 16-	^Hkkjr&ekynho lacaèk* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1-	 Hkkjr us ekynho dh vkikrdkyhu foÙkh; lgk;rk 

ds fy;s 100 fefy;u vesfjdh MkWyj ds Vªstjh 

fcy çnku fd;sA

	 2-	 xzsVj ekys dusfDVfoVh ifj;kstuk dks iwjk djus esa 

Hkkjr lg;ksxdÙkkZ ns'k ugha gSA

	 3-	 o"kZ 1988 esa Hkkjr us ekynho esa r[rkiyV 

ds ç;kl dks jksdus ds fy;s ^vkWijs'ku dSDVl* 

vfHk;ku pyk;k FkkA

	 	mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3
	 17-	fuEufyf[kr esa ls dkSu&lk ^'ka?kkbZ lg;ksx laxBu 

(SCO)* ds lanHkZ esa lgh fooj.k gS\

	 (a)	 SCO dh LFkkiuk 15 twu] 2003 esa dh xbZ FkhA

	 (b)	 Hkkjr SCO ds laLFkkid lnL;ksa esa ls ,d gSA

	 (c)	 SCO dk lfpoky; phu ds 'ka?kkbZ 'kgj esa 

fLFkr gSA

	 (d)	 SCO dh vkfèkdkfjd Hkk"kk,¡ :lh vkSj phuh gSaA

	 18-	fuEufyf[kr ij fopkj dhft;s%

	 1-	 dukMk

	 2-	 U;w”khySaM

	 3-	 izQk¡l

	 4-	 ;wukbVsM fdaxMe

	 	mi;ZqDr esa ls fdrus ns'k ,d [kqfiQ;k xBcaèku ^iQkbo 

vkbZ”k* esa 'kkfey gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks

	 (c)	 dsoy rhu	 (d)	 lHkh pkjksa
	 19-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 o"kZ 1960 esa Hkkjr ds ̂ j{kk vuqlaèkku vkSj fodkl 

laxBu* (DRDO) dk xBu fd;k x;k FkkA

	 2-	 ^j{kk mUur vuqlaèkku ifj;kstuk ,tsalh* (DARPA) 
;w-,l-,- dh ,d vuqlaèkku vkSj fodkl ,tsalh gSA

	 3-	 ;w-,l-,- ds lg;ksx ls DRDO }kjk ̂ rstl* gYdk 

yM+kdw foeku dk fodkl fd;k x;k gSA

	 4-	 :l ds lg;ksx ls DRDO }kjk fo'o dh lcls 

rs”k lqijlksfud Øwt felkby ^czãksl felkby* 

dk fodkl fd;k x;k gSA

	 	mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 4	 (b)	 dsoy 2 vkSj 4
	 (c)	 dsoy 1 vkSj 3	 (d)	 dsoy 2 vkSj 4

	 16.	 With reference to ‘India-Maldives Relations’, 
consider the following statements:

	 1.	 India provided $100 million in Treasury 
bills as emergency financial assistance to the 
Maldives.

	 2.	 India is not a partner country in completing 
the Greater Male Connectivity Project.

	 3.	 In 1988, India conducted ‘Operation Cactus’ 
to prevent a coup attempt in the Maldives.

		  Which of the above statements is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 17.	 Which of the following is a correct description 
regarding the ‘Shanghai Cooperation Organisation’ 
(SCO)?

	 (a)	 SCO was established on 15 June 2003.
	 (b)	 India is one of the founding members of the 

SCO.
	 (c)	 The SCO Secretariat is located in Shanghai, 

China.
	 (d)	 The official languages of the SCO are 

Russian and Chinese.

	 18.	 Consider the following:
	 1.	 Canada
	 2.	 New Zealand
	 3.	 France
	 4.	 United Kingdom

		  How many of the above countries are part of the 
intelligence alliance known as the ‘Five Eyes’?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four

	 19.	 Consider the following statements:
	 1.	 The ‘Defence Research and Development 

Organisation’ (DRDO) of India was 
established in 1960.

	 2.	 The ‘Defence Advanced Research Projects 
Agency’ (DARPA) is a research and 
development agency of the USA.

	 3.	 The ‘Tejas’ Light Combat Aircraft was 
developed by DRDO with the cooperation 
of the USA.

	 4.	 The ‘BrahMos missile’, the world’s fastest 
supersonic cruise missile, was developed by 
DRDO in collaboration with Russia.

		  Which of the above statements is/are correct?
	 (a)	 1 and 4 only 	 (b)	 2 and 4 only 
	 (c)	 1 and 3 only	 (d)	 2 and 3 only
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	 20-	gky gh esa oSKkfudksa us vLirky esa gksus okys tkuysok 

laØe.kksa ds dkjdksa esa ls ,d fdl thok.kq esa çfrtSfod 

çfrjksèk dks O;qRØfer djus gsrq iQstsl dh {kerk dks 

çnf'kZr fd;k gS\

	 (a)	 cksMZsVsyk iVZqfll

	 (b)	 ,Lpsfjfp;k dksyh

	 (c)	 DySekbfM;k VªSdkseSfVl

	 (d)	 L;wMkseksukl ,#fxukslk

	 21-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 varjkZ"Vªh; ijek.kq ÅtkZ ,tsalh (IAEA) ds vuqlkj 

Leky ekM~;wyj fj,DVj (SMR) mUur ijek.kq 
fj,DVj gksrs gSaA

	 2-	 fyfDoM esVy dwYM iQkLV U;wVªkWu LisDVªe SMR 

esa lksfM;e vkSj lhlk tSls 'khrydksa dk ç;ksx 

fd;k tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	 22-	fuEufyf[kr lwpuk ij fopkj dhft;s%

ukscsy iqjLdkj 
fotsrk Hkkjrh; ewy 

ds oSKkfud

o"kZ {ks=k

1. gjxksfoan [kqjkuk 1968 fpfdRlk
2. lqczã.;e paæ'ks[kj 1983 jlk;u foKku
3. osadVjeu jkeÑ".ku 2009 HkkSfrdh

	 	mi;ZqDr lwpuk esa ls fdruh iafDr;k¡ lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks

	 (c)	 lHkh rhu	 (d)	 dksbZ ugha

	 23-	fuEufyf[kr esa ls dkSu&lk ^ehFksu* ds lanHkZ esa lgh 

fooj.k gS\

	 (a)	 ;g xaèk;qDr] ysfdu jaxghu rFkk Loknghu xSl gSA

	 (b)	 ;g çkÑfrd xSl dk f}rh;d ?kVd gSA

	 (c)	 bldh Xykscy okfe±x {kerk 25 gSA
	 (d)	 ;g iw.kZ ngu esa uhyh ykS ds lkFk tyrh gSA

	 24-	fuEufyf[kr ij fopkj dhft;s%

	 1-	 lrr~ Ñf"k ij jk"Vªh; fe'ku

	 2-	 jk"Vªh; i'kqèku fe'ku

	 3-	 tyok;q vuqdwy Ñf"k esa jk"Vªh; uokpkj

	 4-	 xkscjèku ;kstuk

	 	mi;ZqDr esa ls fdrus Hkkjr }kjk ehFksu mRltZu dks de 

djus ds ç;kl gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks

	 (c)	 dsoy rhu	 (d)	 lHkh pkjksa

	 20.	 Recently, scientists demonstrated the ability of 
bacteriophages to reverse antibiotic resistance in 
one of the bacterial pathogens responsible for life-
threatening hospital infections. Which bacterium 
was studied?

	 (a)	 Bordetella pertussis
	 (b)	 Escherichia coli
	 (c)	 Chlamydia trachomatis
	 (d)	 Pseudomonas aeruginosa
	 21.	 Consider the following statements:
	 1.	 According to the International Atomic 

Energy Agency (IAEA), Small Modular 
Reactors (SMRs) are advanced nuclear 
reactors.

	 2.	 Liquid metal-cooled fast neutron spectrum 
SMRs use coolants such as sodium and lead.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 22.	 Consider the following information:

Nobel Prize-winning 
Scientist of Indian 

Origin

Year Field

1. Har Gobind Khorana 1968 Medicine
2. Subrahmanyan 

Chandrasekhar
1983

Chemistry

3. Venkatraman 
Ramakrishnan

2009
Physics

		  In how many of the above rows is the given 
information correctly matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None

	 23.	 Which of the following is a correct description of 
‘methane’ ?

	 (a)	 It is an odorous, but colorless and tasteless gas.
	 (b)	 It is the secondary component of natural gas.
	 (c)	 Its global warming potential is 25.
	 (d)	 It burns with a blue flame during complete 

combustion.

	 24.	 Consider the following:
	 1.	 National Mission on Sustainable Agriculture
	 2.	 National Livestock Mission
	 3.	 National Innovations in Climate Resilient 

Agriculture
	 4.	 Gobardhan Scheme

	 	 How many of the above are efforts by India to 
reduce methane emissions?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four
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	 25-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 	dFku&I%
	 	orZeku esa ^xzhugf'kax* okyk oSf'od :>ku lkeus 

vk;k gSA

		 dFku&II%
	 	dbZ dkcZu&U;wVªy çkekf.kr daifu;k¡ vius i;kZoj.kh; 

y{;ksa vkSj miyfCèk;ksa dks j.kuhfrd :i ls fNik jgh gSaA

	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 

lgh gS\

	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh O;k[;k djrk gSA

	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa] fdarq dFku&II] 
dFku&I dh O;k[;k ugha djrk gSA

	 (c)	 dFku&I lgh gS] fdarq dFku&II lgh ugha gSA
	 (d)	 dFku&I lgh ugha gS] fdarq dFku&II lgh gSA
	 26-	fuEufyf[kr ij fopkj dhft;s%

	 1-	 ysMhcx

	 2-	 xzhu fcfYMax LVwfM;ks

	 3-	 DykbesV LVwfM;ks

	 	mi;ZqDr esa ls fdrus gkbZ ijiQkWjesal fcfYMax ls lacafèkr 

midj.k gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks

	 (c)	 lHkh rhu	 (d)	 dksbZ ugha

	 27-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

		 dFku&I%
	 	^fgeky;u Dyhuvi vfHk;ku* (THC) ioZrh; {ks=kksa esa 

IykfLVd çnw"k.k ds lekèkku ls lacafèkr lcls cM+k 

vfHk;ku gSA

	 	dFku&II%
	 	^fgeky;u Dyhuvi vfHk;ku* esa dpjs dh liQkbZ djus 

ds fy;s Lo;alsod 'kkfey gksrs gSaA

		 dFku&III%
	 	^fgeky;u Dyhuvi vfHk;ku* çR;sd o"kZ 'kh"kZ 

çnw"k.kdkjh daifu;ksa dh igpku djrk gSA

	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 

lgh gS\

	 (a)	 dFku&II vkSj dFku&III nksuksa lgh gSa rFkk nksuksa] 
dFku&I dh O;k[;k djrs gSaA

	 (b)	 dFku&II vkSj dFku&III nksuksa lgh gSa] fdarq muesa 

ls dsoy ,d] dFku&I dh O;k[;k djrk gSA

	 (c)	 dFku&II vkSj dFku&III esa ls dsoy ,d lgh gS 

vkSj og dFku&I dh O;k[;k djrk gSA

	 (d)	 u rks dFku&II] u gh dFku&III lgh gSA

	 25.	 Consider the following statements:
		  Statement I:
		  A global trend of ‘greenhushing’ has emerged in 

recent times.
		  Statement II:
		  Many carbon-neutral certified companies are 

strategically concealing their environmental goals 
and achievements.

		  Which of the following is correct in respect of the 
above statements?

	 (a)	 Both Statement I and Statement II are correct 
and Statement II explains Statement I.

	 (b)	 Both Statement I and Statement II are 
correct, but Statement II does not explain 
Statement I.

	 (c)	 Statement I is correct, but Statement II is not 
correct.

	 (d)	 Statement I is not correct, but Statement II is 
correct.

	 26.	 Consider the following:
	 1.	 Ladybug
	 2.	 Green Building Studio
	 3.	 Climate Studio

		  How many of the above are tools related to high-
performance buildings?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None

	 27.	 Consider the following statements:
		  Statement I:
		  ‘The Himalayan Cleanup Campaign’ (THC) is the 

largest campaign addressing plastic pollution in 
mountain regions.

		  Statement II:
		  ‘The Himalayan Cleanup Campaign’ involves 

volunteers cleaning waste.
		  Statement III:
	 	 ‘The Himalayan Cleanup Campaign’ identifies the 

top polluting companies every year.
		  Which of the following is correct in respect of the 

above statements?
	 (a)	 Both Statement II and Statement III are 

correct and both of them explain Statement I.
	 (b)	 Both Statement II and Statement III are 

correct, but only one of them explains 
Statement I.

	 (c)	 Only one of Statement II and Statement III is 
correct and that explains Statement I.

	 (d)	 Neither Statement II nor Statement III is 
correct.
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	 28-	fLol&csLM fjlpZ dalYVsalh vFkZ ,D'ku (EA) fjiksVZ 
}kjk tkjh ̂ dqçcafèkr vif'k"V lwpdkad (MWI)] 2023* 
esa Hkkjr dks dkSu&lk LFkku çkIr gqvk gS\

	 (a)	 rhljk	 (b)	 pkSFkk
	 (c)	 ik¡pok¡	 (d)	 NBk
	 29-	^dqufeax&ekWfUVª;y oSf'od tSofofoèkrk ÚseodZ* 

(KMGBF) ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1-	 bldk mn~ns'; o"kZ 2030 rd oSf'od Lrj ij 

tSofofoèkrk dh gkfu dks jksduk gSA

	 2-	 bls fnlacj] 2021 esa la;qDr jk"Vª tSofofoèkrk 
lEeysu dh CoP-16 ds nkSjku viuk;k x;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	 30-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 i`Foh dh i;kZoj.kh; lhekvksa dks js[kkafdr djus 

ds fy;s o"kZ 2008 esa tksgku jkWdLVªkse ,oa 28 
oSKkfudksa }kjk ^xzgh; lhek ÚseodZ* çLrqr fd;k 

x;k FkkA

	 2-	 ^xzgh; lhek ÚseodZ* ds varxZr vkB xzgh; lhek,¡ 

js[kkafdr dh xbZ gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	 31-	^Hkweè;js[kh; Iyk”ek cqycqys* (EPB) ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 EPB lw;kZLr ds ckn pqacdh; Hkweè; js[kk ds ikl 

fufeZr vk;ueaMy esa {kh.k Iyk”ek ds {ks=k gSaA

	 2-	 EPB 'khr v;ukar ds nkSjku lcls de gksrs gSaA

	 3-	 EPB xzh"e v;ukar ds nkSjku lcls vfèkd gksrs gSaA

	 	mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 3	 (d)	 1] 2 vkSj 3
	 32-	^Vksaxk Tokykeq[kh* ds lacaèk esa fuEuyf[kr esa ls dkSu&lk 

dFku lgh ugha gS\

	 (a)	 ;g cM+s Vksaxk&dsjekMsd Tokykeq[kh vkdZ dk ,d 

Hkkx gSA

	 (b)	 ;g mÙkj&iwohZ ç'kkar egklkxj esa fLFkr gSA

	 (c)	 ;g VksiQqvk vkdZ ds lkFk 12 iqf"VÑr lcejhu 

Tokykeqf[k;ksa esa ls ,d gSA

	 (d)	 ;g fjax vkWiQ iQk;j dk ,d fgLlk gSA

	 28.	 What rank has India obtained in the ‘Mismanaged 
Waste Index (MWI), 2023’ issued by Swiss-based 
research consultancy Earth Action (EA) report?

	 (a)	 Third	 (b)	 Fourth
	 (c)	 Fifth	 (d)	 Sixth

	 29.	 With reference to the ‘Kunming-Montreal Global 
Biodiversity Framework’ (KMGBF), consider the 
following statements:

	 1.	 Its goal is to halt biodiversity loss globally 
by 2030.

	 2.	 It was adopted in December, 2021 during the 
CoP-16 of the United Nations Biodiversity 
Conference.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 30.	 Consider the following statements:
	 1.	 The ‘Planetary Boundary Framework’ to 

outline Earth's environmental limits was 
introduced in 2008 by Johan Rockstrom and 
28 scientists.

	 2.	 The ‘Planetary Boundary Framework’ 
identifies eight planetary boundaries.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 31.	 With reference to ‘Equatorial Plasma Bubble’ 
(EPB), consider the following statements:

	 1.	 EPBs are regions of depleted plasma in the 
ionosphere near the magnetic equator after 
sunset.

	 2.	 EPBs are least frequent during the winter 
solstice.

	 3.	 EPBs are most frequent during the summer 
solstice.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 32.	 With reference to the ‘Tonga Volcano,’ which of 
the following statements is NOT correct?

	 (a)	 It is part of the large Tonga-Kermadec 
volcanic arc.

	 (b)	 It is located in the north-eastern Pacific 
Ocean.

	 (c)	 It is one of the 12 confirmed submarine 
volcanoes along the Tofua Arc.

	 (d)	 It is a part of the Ring of Fire.
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	 33-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 leqæh m".k rjaxsa] leqæ ds fdlh fo'ks"k {ks=k ds 

lrgh rkieku ds de&ls&de rhu fnuksa ds fy;s 

vkSlr rkieku ls 3 ;k 4 fMxzh lsfYl;l vfèkd 

gksus ij mRiUu gksrh gSaA

	 2-	 V~okbykbV tksu] leqæ dh lrg ls 200 ls 1000 
ehVj uhps rd iQSyh egklkxj dh ,d ijr gSA

	 3-	 Hk¡oj èkkjk] egklkxj esa eq[; èkkjk ls vyx gksdj 

Lora=k :i ls çokfgr gksus okyh ,d NksVh o 

xksykdkj tyèkkjk gSA

	 	mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 34-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 lw;Z ds fo"kqor o`Ùk dk pØ.k blds èkzqoksa dh 

vis{kk èkhek gksrk gSA

	 2-	 lw;Z ds fo"kqor o`Ùk esa çfrfnu 13.98 fMxzh dk 

?kw.kZu gksrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	 35-	fuEufyf[kr lwpuk ij fopkj dhft;s%

pØokr psrkouh 
ç.kkyh

jax fooj.k

1. pØokr iwoZ fuxjkuh gjk 72 ?kaVs igys tkjh
2. pØokr psrkouh ukjaxh 48 ?kaVs igys tkjh
3. pØokr psrkouh ihyk 24 ?kaVs igys tkjh
4. Hkw&L[kyu ds ckn 

dk iwokZuqeku
yky 12 ?kaVs igys tkjh

	 	mi;ZqDr lwpuk esa ls fdruh iafDr;k¡ lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks

	 (c)	 dsoy rhu	 (d)	 lHkh pkjksa
	 36-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 varjkZ"Vªh; Je laxBu dh fjiksVZ ds vuqlkj] Hkkjr 

dh ;qok is'ksoj efgyk,¡ vkSlru çfr lIrkg 55 
?kaVs dk;Z djrh gSaA

	 2-	 ASSOCHAM ds ,d vè;;u ds vuqlkj] Hkkjr 

esa 42% OgkbV dkWyj Jfed çfr lIrkg fofèkd 

:i ls fuèkkZfjr 48 ?kaVs dh dk;Z lhek ls vfèkd 

dk;Z djrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 33.	 Consider the following statements:
	 1.	 Marine heat waves occur when surface 

temperatures in a particular area of the ocean 
are 3 or 4 degree celsius above average for at 
least three days.

	 2.	 The twilight zone is a layer of the ocean 
extending from 200 to 1000 meters below 
the surface.

	 3.	 An ocean eddy current is a small and circular 
water current that separates from the main 
current in the ocean and flows independently.

		  Which of the above statements is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 34.	 Consider the following statements:
	 1.	 The rotation of the Sun’s equatorial region is 

slower than its poles.
	 2.	 The Sun’s equatorial region rotates at a rate 

of 13.98 degrees per day.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 35.	 Consider the following information:

Cyclone Warning 
System

Colour Description

1. Cyclone  
Pre-Monitoring

Green Issued 72 hours 
in advance

2. Cyclone Warning Orange Issued 48 hours 
in advance

3. Cyclone Alert Yellow Issued 24 hours 
in advance

4. Post-Landfall 
Forecasting

Red Issued 12 hours 
in advance

		  In how many of the above rows is the given 
information correctly matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four

	 36.	 Consider the following statements:
	 1.	 According to the International Labour 

Organization report, young professional 
women in India work an average of 55 hours 
per week.

	 2.	 According to an ASSOCHAM study, 42% of 
white-collar workers in India work beyond 
the legally prescribed 48 hours weekly limit.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 37-	fuEufyf[kr dFkuksa ij fopkj dhft;s%
		 dFku&I%
	 	lokZsPp U;k;ky; ds vuqlkj tsyksa esa tkfr&vkèkkfjr 

Je foHkktu ^vlaoSèkkfud* gSA
	 	dFku&II%
	 	tsyksa esa tkfr&vkèkkfjr Je foHkktu Hkkjrh; lafoèkku 

ds vuqPNsn& 14] 15 rFkk 17 dk mYya?ku gSA
	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 

lgh gS\
	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 

dFku&I dh O;k[;k djrk gSA
	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa] fdarq dFku&II] 

dFku&I dh O;k[;k ugha djrk gSA
	 (c)	 dFku&I lgh gS] fdarq dFku&II lgh ugha gSA
	 (d)	 dFku&I lgh ugha gS] fdarq dFku&II lgh gSA
	 38-	^lk{kh laj{k.k ;kstuk] 2018* ds lanHkZ esa fuEufyf[kr 

esa ls dkSu&lk dFku lgh ugha gS\
	 (a)	 ;g xokgksa dks èkedh] Hk; ;k {kfr ls cpkus ds 

mn~ns'; ls cukbZ xbZ igyh ;kstuk gSA
	 (b)	 blds varxZr jkT; lk{kh laj{k.k fufèk dh LFkkiuk 

dh xbZ gSA
	 (c)	 fdlh xokg }kjk >wBh f'kdk;r ntZ djk, tkus 

ij jkT; ljdkj mldh lqj{kk ij fd;s x, O;; 
dh olwyh dj ldrh gSA

	 (d)	 ;g xokgksa dh lqj{kk ds fy;s j{kk ea=kky; }kjk 
fodflr ,d fofèkd <k¡pk gSA

	 39-	fr#ekyk igkfM+;ksa dh lkr igkfM+;ksa esa ls ,d osadV 
igkM+h ij fLFkr ^fr#ekyk osadVs'oj eafnj* Hkkjr ds 
fdl jkT; esa gS\

	 (a)	 rfeyukMq	 (b)	 dukZVd
	 (c)	 dsjy	 (d)	 vkaèkz çns'k
	 40-	fuEufyf[kr ij fopkj dhft;s%
	 1-	 vuqPNsn&16	 2-	vuqPNsn&17
	 3-	 vuqPNsn&20	 4-	vuqPNsn&23
	 	mi;ZqDr esa ls fdrus eSuqvy LdSosaftax dks de djus 

ds Hkkjrh; laoSèkkfud lqj{kk mik; gSa\
	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 dsoy rhu	 (d)	 lHkh pkjksa
	 41-	Hkkjrh; j{kk ea=kh }kjk tkjh ^vkSifuosf'kd çFkk,¡ vkSj 

l'kL=k cy&,d leh{kk* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 lsuk çf'k{k.k deku us lSU; dfeZ;ksa ds fy;s çkphu 
Hkkjrh; voèkkj.kkvksa ij iBu lkexzh fufeZr dh gSA

	 2-	 lSU; çf'k{k.k lqfoèkkvksa esa vkSifuosf'kd ;qx dh 
lkfgfR;d Ñfr;ksa dks Hkkjrh; lkfgfR;d Ñfr;ksa 
ls çfrLFkkfir fd;k tk,xkA

	 37.	 Consider the following statements:
		  Statement I:
		  According to the Supreme Court, caste-based 

division of labor in prisons is ‘unconstitutional.’
		  Statement II:
		  Caste-based division of labor in prisons violates 

Articles 14, 15 and 17 of the Indian Constitution.
		  Which of the following is correct in respect of the 

above statements?
	 (a)	 Both Statement I and Statement II are correct 

and Statement II explains Statement I.
	 (b)	 Both Statement I and Statement II are 

correct, but Statement II does not explain 
Statement I.

	 (c)	 Statement I is correct, but Statement II is not 
correct.

	 (d)	 Statement I is not correct, but Statement II is 
correct.

	 38.	 With reference to the ‘Witness Protection Scheme, 
2018,’ which of the following statements is NOT 
correct?

	 (a)	 It is the first scheme aimed at protecting 
witnesses from threats, intimidation or harm.

	 (b)	 It provides for the establishment of a State 
Witness Protection Fund.

	 (c)	 The state government can recover the cost of 
protection if a witness files a false complaint.

	 (d)	 It is a legal framework developed by the 
Ministry of Defence for witness protection.

	 39.	 The ‘Tirumala Venkateswara Temple,’ located on 
the Venkata Hill, one of the seven hills of the 
Tirumala range, is situated in which Indian state?

	 (a)	 Tamil Nadu	 (b)	 Karnataka
	 (c)	 Kerala	 (d)	 Andhra Pradesh

	 40.	 Consider the following:
	 1.	 Article-16	 2.	 Article-17
	 3.	 Article-20	 4.	 Article-23

		  How many of the above are constitutional 
safeguards in India to reduce manual scavenging?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four

	 41.	 With reference to the 'Colonial Practices and the 
Armed Forces – A Review' issued by the Indian 
Defence Minister, consider the following 
statements:

	 1.	 The Army Training Command has developed 
reading materials based on ancient Indian 
concepts for military personnel.

	 2.	 Colonial-era literary works in military 
training facilities will be replaced with 
Indian literary works.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	 42-	fuEufyf[kr lwpuk ij fopkj dhft;s%

gM+Iik lH;rk 
ds LFky

[kkstdÙkkZ vofLFkfr

1. gM+Iik n;kjke 
lkguh

jkoh unh ds rV ij 
(ikfdLrku)

2. eksgutksnM+ks jk[ky nkl 
cuthZ

flaèkq unh ds rV ij 
(ikfdLrku)

3. yksFky vkj-,l- 
fo"V

Hkksxok unh ds rV 
ij (xqtjkr)

4. èkkSykohjk vkj- jko dPN ds j.k esa 
(xqtjkr)

	 	mi;ZqDr lwpuk esa ls fdruh iafDr;k¡ lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks

	 (c)	 dsoy rhu	 (d)	 lHkh pkjksa
	 43-	^gM+Iik lH;rk* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1-	 gM+Iik lH;rk esa èkkrq eqæk dk çpyu FkkA

	 2-	 VsjkdksVk dh ewfrZ;ksa dk fuekZ.k gM+Iik lH;rk dh 

egÙoiw.kZ f'kYi fo'ks"krk FkhA

	 3-	 gM+Iik lH;rk esa lcls egÙoiw.kZ i'kq dwcM+ okyk 

lkaM FkkA

	 	mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 3	 (d)	 1] 2 vkSj 3
	 44-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 	dFku&I%
	 	usiksfy;u cksukikVZ vksfj,aVy oYMZ ds çfr egÙokdka{kh 

O;fDr FkkA

	 	dFku&II%
	 	usiksfy;u cksukikVZ iwohZ ns'kksa ds çfr vkdf"kZr gksus lkFk 

,f'k;k esa fldanj egku dh fot;ksa ls Hkh çHkkfor FkkA

	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 

lgh gS\

	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh O;k[;k djrk gSA

	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa] fdarq dFku&II] 
dFku&I dh O;k[;k ugha djrk gSA

	 (c)	 dFku&I lgh gS] fdarq dFku&II lgh ugha gSA
	 (d)	 dFku&I lgh ugha gS] fdarq dFku&II lgh gSA

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 42.	 Consider the following information:

Harappan 
Civilization 

Site

Discoverer Location

1. Harappa 	 Dayaram 
Sahni

On the banks of 
the Ravi River 
(Pakistan)

2. Mohenjo-
Daro

Rakhal Das 
Banerjee

On the banks of 
the Sindhu River 
(Pakistan)

3. Lothal R.S. Visht On the banks of 
the Bhogwa River 
(Gujarat)

4. Dholavira R. Rao In the Rann of 
Kutch (Gujarat)

		  In how many of the above rows is the given 
information correctly matched ?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four
	 43.	 With reference to the 'Harappan Civilization,' 

consider the following statements:
	 1.	 The Harappan Civilization had a system of 

metal currency.
	 2.	 Terracotta figurines were a significant craft 

feature of the Harappan Civilization.
	 3.	 The most important animal in the Harappan 

Civilization was the humpbacked bull.
		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 44.	 Consider the following statements:
		  Statement I:
		  Napoleon Bonaparte was an ambitious person 

towards the Oriental world.
		  Statement II:
		  Along with being attracted towards eastern 

countries, Napoleon Bonaparte was influenced by 
the victories of Alexander the Great in Asia.

		  Which of the following is correct in respect of the 
above statements?

	 (a)	 Both Statement I and Statement II are correct 
and Statement II explains Statement I.

	 (b)	 Both Statement I and Statement II are 
correct, but Statement II does not explain 
Statement I.

	 (c)	 Statement I is correct, but Statement II is not 
correct.

	 (d)	 Statement I is not correct, but Statement II is 
correct.
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	 45.	 Consider the following statements:
	 1.	 According to Section 3 of the Sati 

(Prevention) Act, 1987, an attempt to commit 
Sati may result in one year of imprisonment, 
a fine, or both.

	 2.	 The Marathas imposed a ban on the practice 
of Sati in their territories.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 46.	 With reference to 'Lord William Bentinck,' 
consider the following statements:

	 1.	 He supported Cornwallis’s policy of 
excluding Indians from administrative roles.

	 2.	 He ordered the use of the local language in 
local courts.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 47.	 Consider the following pairs:

Committee/
Commission on 

AFSPA

Its Recommendation

1. Jeevan Reddy 
Committee

AFSPA should be 
repealed

2. Santosh Hegde 
Commission

AFSPA should be 
repealed

3. Second ARC Review AFSPA every 6 
months to ensure its 
necessity

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None

	 48.	 Consider the following statements:

	 	 Statement I:

		  The National Foundation for Communal Harmony 
(NFCH) focuses on promoting communal harmony 
and national unity.

	 	 Statement II:

		  Promoting enmity between various groups based 
on religion, caste, place of birth, residence, 
language, etc., threatens the integrity of the 
country.

	 45-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 lrh çFkk (jksdFkke) vfèkfu;e] 1987 dh èkkjk 

3 ds vuqlkj lrh gksus dk ç;kl djus ij ,d 

o"kZ dk dkjkokl] ”kqekZuk ;k nksuksa gks ldrk gSA

	 2-	 ejkBksa us vius {ks=kksa esa lrh çFkk ij çfrcaèk yxk 

fn;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 46-	^ykMZ fofy;e csafVd* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1-	 blus Hkkjrh;ksa dks ç'kklfud Hkwfedkvksa ls ckgj 

j[kus dh dkWuZokWfyl dh uhfr dk leFkZu fd;kA

	 2-	 blus LFkkuh; U;k;ky;ksa esa LFkkuh; Hkk"kk ds ç;ksx 

dk vkns'k fn;kA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 47-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

AFSPA ij xfBr 
lfefr@vk;ksx

mldh fliQkfj'k

1. thou jsM~Mh lfefr AFSPA dks fujLr dj 
nsuk pkfg;s

2. larks"k gsxM+s vk;ksx AFSPA dks fujLr dj 
nsuk pkfg;s

3. f}rh; ARC AFSPA dh vfuok;Zrk 
lqfuf'pr djus ds fy;s 
çR;sd 6 ekg esa bldh 
leh{kk djuk

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks

	 (c)	 lHkh rhu	 (d)	 dksbZ ugha

	 48-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 	dFku&I%

	 	jk"Vªh; lkaçnkf;d ln~Hkko iQkmaMs'ku (NFCH) 

lkaçnkf;d ln~Hkko ,oa jk"Vªh; ,drk dks c<+kok nsus ij 

dsafær gSA

	 	dFku&II%

	 	èkeZ] tkfr] tUe LFkku] fuokl] Hkk"kk vkfn ds vkèkkj 

ij fofHkUu lewgksa ds chp 'k=kqrk dks c<+kok nsus ls ns'k 

dh v[kaM+rk [krjs esa iM+ tkrh gSA
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		  Which of the following is correct in respect of the 
above statements?

	 (a)	 Both Statement I and Statement II are correct 
and Statement II explains Statement I.

	 (b)	 Both Statement I and Statement II are 
correct, but Statement II does not explain 
Statement I.

	 (c)	 Statement I is correct, but Statement II is not 
correct.

	 (d)	 Statement I is not correct, but Statement II is 
correct.

	 49.	 Which of the following is the correct description 
regarding the 'recent judgement of the Supreme 
Court in respect of the 14 day time limit under the 
Unlawful Activities (Prevention) Act, 1967 
(UAPA)'?

	 (a)	 The 14 day time limit for sanctioning pro-
secution under UAPA is now discretionary.

	 (b)	 In matters of national security, only the 
central government is required to act within 
the 14 day time limit under UAPA.

	 (c)	 Failure to comply with the 14 day time limit 
under UAPA may result in serious legal 
consequences.

	 (d)	 The Supreme Court's recent judgement on 
the 14 day time limit under UAPA will apply 
to past cases as well.

	 50.	 With reference to the new statue of 'Goddess of 
Justice,' consider the following statements:

	 1.	 The eyes of the statue of 'Goddess of Justice' 
has no longer blindfolded.

	 2.	 The 'Goddess of Justice' now wears a saree.
	 3.	 The scales of justice are placed on the left 

side of the 'Goddess of Justice.'
		  Which of the above statements is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 51.	 Under the 'PM Internship Scheme', how much 

amount will applicants receive as a monthly 
stipend from the government?

	 (a)	 ` 3,500	 (b)	 ` 4,500
	 (c)	 ` 5,500	 (d)	 ` 6,500
	 52.	 Which of the following statements is not correct 

regarding 'Bharatjan'?
	 (a)	 The 'Bharatjan' generative AI initiative was 

launched by the Ministry of Science and 
Technology.

	 (b)	 It is designed to enhance public service 
delivery.

	 (c)	 It is the world’s first government-funded 
multimodal large language model project for 
Indian languages.

	 (d)	 It is led by IIT Delhi under the interdisciplinary 
cyber-physical systems national mission.

	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 
lgh gS\

	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh O;k[;k djrk gSA

	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa] fdarq dFku&II] 
dFku&I dh O;k[;k ugha djrk gSA

	 (c)	 dFku&I lgh gS] fdarq dFku&II lgh ugha gSA
	 (d)	 dFku&I lgh ugha gS] fdarq dFku&II lgh gSA
	 49-	fuEufyf[kr esa ls dkSu&lk ^fofèkfo#¼ fØ;kdyki 

(fuokj.k) ,DV] 1967 (UAPA) ds rgr 14 fnu dh 
le;&lhek ds lacaèk esa lqçhe dksVZ ds gkfy;k fu.kZ;* 
ds lanHkZ esa lgh fooj.k gS\

	 (a)	 UAPA ds rgr vfHk;kstu dh ea”kwjh nsus ds fy;s 
14 fnu dh le;&lhek vc foosdkèkhu gSA

	 (b)	 jk"Vªh; lqj{kk ds ekeyksa esa dsoy dsaæ ljdkj dks 
UAPA dh 14 fnu dh le;&lhek ds rgr dk;Z 
djuk vko';d gSA

	 (c)	 UAPA dh 14 fnu dh le;&lhek dk ikyu u 
djus ij xaHkhj dkuwuh ifj.kke gks ldrs gSaA

	 (d)	 UAPA ds rgr 14 fnu dh le;&lhek dk lqçhe 
dksVZ dk gkfy;k fu.kZ; fiNys ekeyksa ij Hkh ykxw 
gksxkA

	 50-	^U;k; dh nsoh* dh ubZ çfrek ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 ^U;k; dh nsoh* dh çfrek dh vk¡[kksa ij vc iV~Vh 
ugha c¡èkh gSA

	 2-	 ^U;k; dh nsoh* us vc lkM+h iguh gqbZ gSA
	 3-	 U;k; ds rjktw dks ̂ U;k; dh nsoh* ds ck,¡ esa j[kk 

x;k gSA
	 	mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3
	 51-	^ih,e baVuZf'ki ;kstuk* ds rgr vkosndksa dks ljdkj 

dh vksj ls fdruh jkf'k ekfld o`fÙk ds :i esa feysxh\
	 (a)	 ` 3,500	 (b)	 ` 4,500
	 (c)	 ` 5,500	 (d)	 ` 6,500
	 52-	^Hkkjrtsu* ds lanHkZ esa fuEufyf[kr esa ls dkSu&lk dFku 

lgh ugha gS\
	 (a)	 ^Hkkjrtsu* uked tujsfVo AI igy dh 'kq#vkr 

foKku ,oa çkS|ksfxdh ea=kky; }kjk dh xbZ gSA
	 (b)	 bls lkoZtfud lsok forj.k dks c<+kus ds fy;s 

fM”kkbu fd;k x;k gSA
	 (c)	 ;g Hkkjrh; Hkk"kkvksa ds fy;s fo'o dh igyh 

ljdkjh foÙkiksf"kr eYVhekMy yktZ ySaXost ekWMy 
ifj;kstuk gSA

	 (d)	 bldk usr`Ùo IIT fnYyh }kjk varjfo"k;h 
lkbcj&HkkSfrdh ç.kkyh ls lacafèkr jk"Vªh; fe'ku 
ds rgr fd;k tkrk gSA
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	 53-	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 	dFku&I%
	 	v#.kkpy çns'k esa ,d pksVh dk uke ^Rlkax;kax X;kRlks 

ihd* j[kk x;k gSA
	 	dFku&II%
	 	^Rlkax;kax X;kRlks* dk tUe rokax esa gqvk FkkA
	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 

lgh gS\
	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 

dFku&I dh O;k[;k djrk gSA
	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa] fdarq dFku&II] 

dFku&I dh O;k[;k ugha djrk gSA
	 (c)	 dFku&I lgh gS] fdarq dFku&II lgh ugha gSA
	 (d)	 dFku&I lgh ugha gS] fdarq dFku&II lgh gSA
	 54-	fuEufyf[kr ij fopkj dhft;s%
	 1-	 ekyh	 2-	pkM
	 3-	 csfuu	 4-	lsusxy
	 	mi;ZqDr esa ls fdrus ns'kksa dh lhek lgkjk e#LFky dks 

Li'kZ djrh gS\
	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 dsoy rhu	 (d)	 lHkh pkjksa
	 55-	Hkkjr us l'kL=k cyksa ds fy;s ^MQ-9B çhMsVj l'kL=k 

Mªksu* [kjhnus ds Øe esa fdl ns'k ds lkFk j{kk lkSns 
ij gLrk{kj fd;s gSa\

	 (a)	 izQk¡l	 (b)	 fczVsu
	 (c)	 b”kjk;y	 (d)	 ;w-,l-,
	 56-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

ukscsy iqjLdkj 
Js.kh

ukscsy iqjLdkj] 2024 
fotsrk

1. HkkSfrdh tkWu ts- gkWiiQhYM rFkk 
T;kWÚh bZ- fgaVu

2. esfMflu foDVj ,aczksl rFkk xSjh 
:odqu

3. lkfgR; fugksu fgnkuD;ks
4. 'kkafr gku dkax

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\
	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 dsoy rhu	 (d)	 lHkh pkjksa
	 57-	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1-	 jk"Vªh; Ñf"k fodkl ;kstuk dsoy vkèkqfud iQlyksa 

ds lexz fodkl esa enn djrh gSA
	 2-	 ih,e Ñf"k flapkbZ ;kstuk ikjaifjd iQlyksa lfgr 

lrr~ Ñf"k dks enn nsus ds fy;s flapkbZ esa lqèkkj 
ij è;ku dsafær djrh gSA

	 53.	 Consider the following statements:
		  Statement-I:
		  A peak in Arunachal Pradesh is named 'Tsangyang 

Gyatso Peak'.
		  Statement-II:
		  'Tsangyang Gyatso' was born in Tawang.
		  Which of the following is correct in respect of the 

above statements ?
	 (a)	 Both Statement-I and Statement-II are correct 

and Statement-II explains Statement-I.
	 (b)	 Both Statement-I and Statement-II are 

correct, but Statement-II does not explain 
Statement-I.

	 (c)	 Statement-I is correct, but Statement-II is 
incorrect.

	 (d)	 Statement-I is incorrect, but Statement-II is 
correct.

	 54.	 Consider the following:
	 1.	 Mali	 2.	 Chad
	 3.	 Benin	 4.	 Senegal
		  How many of the above countries' borders touch 

the Sahara Desert?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four
	 55.	 With which country did India sign a defense deal 

to purchase the 'MQ-9B Predator Armed Drones' 
for its armed forces?

	 (a)	 France	 (b)	 United Kingdom
	 (c)	 Israel	 (d)	 USA
	 56.	 Consider the following pairs:

Nobel Prize 
Category

Nobel Prize, 2024 
Winners

1. Physics John J. Hopfield and 
Geoffrey E. Hinton

2. Medicine Victor Ambros and Gary 
Ruvkun

3. Literature Nihon Hidanakyo
4. Peace Han Kang

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four
	 57.	 Consider the following statements:
	 1.	 The National Agricultural Development 

Scheme only helps in the overall development 
of modern crops.

	 2.	 The PM Agricultural Irrigation Scheme 
focuses on improving irrigation to support 
sustainable agriculture, including traditional 
crops.
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		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 58.	 Consider the following statements regarding 'Jet 
Stream':

	 1.	 They are bands of fast-moving winds in the 
middle to upper troposphere flowing from 
east to west.

	 2.	 They exist due to the density gradient 
between the equator and the polar cold and 
dry air.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 59.	 Consider the following statements:
	 1.	 Artificial Intelligence (AI) is the simulation 

of human intelligence by machines.
	 2.	 Machine Learning (ML) is a type of AI that 

involves the development of algorithms.
	 3.	 Deep Learning (DL) uses artificial neural 

networks to learn from data in a way similar 
to the human brain’s learning process.

		  Which of the above statements is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 60.	 Consider the following:
	 1.	 Exercise Desert Night
	 2.	 Exercise Red Flag
	 3.	 Exercise Pitch Black
	 4.	 Exercise HOPEX

		  How many of the above exercises involve the 
Indian Air Force?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four

	 61.	 According to the 'Annual Industry Survey Report, 
2022-23', which state in India ranked the highest 
in terms of employment?

	 (a)	 Maharashtra	 (b)	 Tamil Nadu
	 (c)	 Gujarat	 (d)	 Uttar Pradesh

	 62.	 Consider the following statements regarding the 
'Global Cyber security Index, 2024':

	 1.	 It is issued by the International Tele-
communication Union.

	 2.	 It has four pillars of evaluation.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	 58-	^tsV LVªhe* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1-	 ;s eè; ls Åijh {kksHkeaMy esa iwoZ ls if'pe dh 

vksj rs”kh ls cgus okys gokvksa ds cSaM gSaA
	 2-	 ;g Hkweè; js[kk rFkk èkzqoh; BaMh vkSj 'kq"d gok 

ds chp ?kuRo ço.krk ds dkj.k ekStwn gSA
	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	 59-	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1-	 Ñf=ke cqf¼eÙkk (AI) e'khuksa }kjk ekuo cqf¼ dk 

vuqdj.k gSA
	 2-	 e'khu yfu±x (ML), AI dk ,d çdkj gS ftlesa 

,Yxksfjne dk fodkl 'kkfey gSA
	 3-	 Mhi yfu±x (DL) esa ekuo efLr"d ds lh[kus ds 

rjhds ds leku MsVk ls lh[kus ds fy;s Ñf=ke 
raf=kdk usVodZ dk mi;ksx gksrk gSA

	 	mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3
	 60-	fuEufyf[kr ij fopkj dhft;s%
	 1-	 vH;kl MstVZ ukbV
	 2-	 vH;kl jsM ÝySx
	 3-	 vH;kl fip CySd
	 4-	 vH;kl HOPEX
	 	mi;ZqDr esa ls fdrus vH;klksa esa Hkkjrh; ok;q lsuk 

'kkfey gksrh gS\
	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 dsoy rhu	 (d)	 lHkh pkjksa

	 61-	^okf"kZd m|ksx loZs{k.k fjiksVZ] 2022&23* ds vuqlkj 
jks”kxkj nsus ds lanHkZ esa] Hkkjr dk dkSu&lk jkT; 'kh"kZ 
ij jgk\

	 (a)	 egkjk"Vª	 (b)	rfeyukMq 
	 (c)	 xqtjkr 	 (d)	mÙkj çns'k 

	62-	^oSf'od lkbcj lqj{kk lwpdkad] 2024* ds lanHkZ esa] 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 bls varjkZ"Vªh; nwjlapkj la?k }kjk tkjh fd;k x;kA
	 2-	 blesa ewY;kadu ds pkj LraHk gksrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa  	 (d)	u rks 1] u gh 2



Copyright –  Drishti The Vision Foundation

17
eSx”khu VsLV 

(Magazine Test)

641] çFke ry] 

eq[kthZ uxj] 

fnYyh&110009

21] iwlk jksM] 
djksy ckx]  
ubZ fnYyh

13/15] rk'kdan ekxZ] 
fudV if=kdk pkSjkgk] 

flfoy ykbUl] iz;kxjkt

IykWV uacj&45 o 45-A g"kZ 

Vkoj&2] esu Vksad jksM] 
olqaèkjk dkWyksuh] t;iqj

47/CC] cfy±xVu 
vkdsZM ekWy] foèkkulHkk 

ekxZ] y[kumQ

12] esu ,-ch- jksM]  
Hk¡oj dqvk¡]  

bankSj] eè; izns'k

Phone: 8750187501 :: www.drishtiIAS.com

	 63.	 What is India's rank in the 'Global Hunger Index, 
2024'?

	 (a)	 97th	 (b)	 110th
	 (c)	 105th	 (d)	 120th
	 64.	 Consider the following statements:
		  Statement-I:
		  The global electric vehicle market is expanding 

rapidly.
		  Statement-II:
		  It is estimated that by 2030, electric vehicles will 

account for 50% of new car sales.
		  Which of the following is correct in respect of the 

above statements ?
	 (a)	 Both Statement-I and Statement-II are correct 

and Statement-II explains Statement-I.
	 (b)	 Both Statement-I and Statement-II are 

correct, but Statement-II does not explain 
Statement-I.

	 (c)	 Statement-I is correct, but Statement-II is 
incorrect.

	 (d)	 Statement-I is incorrect, but Statement-II is 
correct.

	 65.	 Where is the headquarters of the 'Telecom 
Regulatory Authority of India' (TRAI) located?

	 (a)	 Mumbai	 (b)	 Bengaluru
	 (c)	 Hyderabad	 (d)	 New Delhi
	 66.	 Consider the following statements regarding the 

'Court of Arbitration for Sport':
	 1.	 It was established in 1987.
	 2.	 Its headquarters is located in The Hague, 

Netherlands.
		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 67.	 Consider the following information:

Recent 
notable 

locations in 
India

State Description

1. Chadwa 
Rakha 

Maharashtra Announcement 
to establish a 
Carecal 
Breeding and 
Conservation 
Area

2. Karnpura 
Coalfield

Odisha Possibility of 
shale gas 
production

3. Kaimur 
Wildlife 
Sanctuary

Bihar Approval to 
develop as a 
Tiger Reserve

	63-	^oSf'od Hkq[kejh lwpdkad] 2024* esa Hkkjr dks dkSu&lk 
LFkku çkIr gqvk gS\ 

	 (a)	 97ok¡  	 (b)	110ok¡ 
	 (c)	 105ok¡ 	 (d)	120ok¡ 

	64-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 	dFku&I% 

	 	oSf'od bysfDVªd okgu ck”kkj dk rs”kh ls foLrkj gks 
jgk gSA

	 	dFku&II% 

	 	o"kZ 2030 rd ubZ dkjksa dh fcØh esa bysfDVªd okguksa 
dh fgLlsnkjh 50% gksus dk vuqeku gSA

	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 
lgh gS\

	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh O;k[;k djrk gSA

	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa] fdarq dFku&II] 
dFku&I dh O;k[;k ugha djrk gSA

	 (c)	 dFku&I lgh gS] fdarq dFku&II lgh ugha gSA
	 (d)	 dFku&I lgh ugha gS] fdarq dFku&II lgh gSA 

	65-	^Hkkjrh; nwjlapkj fofu;ked çkfèkdj.k* (TRAI) dk 
eq[;ky; dgk¡ LFkkfir fd;k x;k gS\

	 (a)	 eqacbZ 	 (b)	caxyw: 
	 (c)	 gSnjkckn 	 (d)	ubZ fnYyh 

	66-	^[ksy iapkV U;k;ky;* ds lanHkZ esa] fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 bldh LFkkiuk o"kZ 1987 esa dh xbZ FkhA
	 2-	 bldk eq[;ky; uhnjySaM ds gsx esa fLFkr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa  	 (d)	u rks 1] u gh 2

	67-	fuEufyf[kr lwpuk ij fopkj dhft;s%

Hkkjr ds 
gkfy;k 

pfpZr LFky

jkT; fooj.k

1. pkMok jk[kk egkjk"Vª dSjsdy çtuu ,oa 
laj{k.k {ks=k LFkkfir 
djus dh ?kks"k.kk

2. d.kZiqjk dks;yk 
{ks=k

vksfM+'kk 'ksy xSl mRiknu 
dh laHkkouk

3. dSewj oU;tho 
vHk;kj.;

fcgkj Vkbxj fj”koZ ds :i 
esa fodflr djus 
dh ea”kwjh
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4. Nagarjunsagar 
Srisailam 
Tiger Reserve

Andhra 
Pradesh

First place 
among Tiger 
Reserves with 
the largest 
leopard 
population

		  In how many of the above rows is the given 
information correctly matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four
	 68.	 Consider the following pairs:

Recent notable 
locations in the 

world

Description

1. Chagos Islands Its sovereignty being 
transferred from Britain 
to Mauritius

2. Palk Strait Nagapattinam-
Kankesanthurai ferry 
service resumes

3. Little Prespa Lake dwindling water logged 
area

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None
	 69.	 Consider the following:
	 1.	 Shiksha
	 2.	 Kaushitaki
	 3.	 Nirukt
	 4.	 Kalp
		  Which of the above are the names of Vedangas?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four
	 70.	 Consider the following statements:
	 1.	 The Aihole Inscription describes the battle 

between Harshavardhan and Pulakeshin II.
	 2.	 The Bogazkoy Inscription is the oldest 

inscription in India.
		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	  2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 71.	 Consider the following statements:
	 1.	 The earliest evidence of the Lower Paleolithic 

Age in India has been found at a site called 
‘Bori’ in Gujarat.

	 2.	 The earliest evidence of agriculture in the 
Neolithic Age is found at ‘Mehrgarh’.

	 3.	 Evidence of the burial of a man and a woman 
together has been found at ‘Mahadaha’ 
during the Mesolithic Age.

4. 	ukxktZqu lkxj 
Jh'kSye Vkbxj 
fj”koZ

vkaèkz çns'k lcls cM+h rsanqvk 
vkcknh okys Vkbxj 
fj”koks± esa çFke 
LFkku feyuk

	 	mi;ZqDr lwpuk esa ls fdruh iafDr;k¡ lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks
	 (c)	 dsoy rhu	 (d)	lHkh pkjksa

	 68-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

fo'o ds gkfy;k 
pfpZr LFky

fooj.k

1. pkxksl }hi lewg fczVsu }kjk bldh laçHkqrk 
ekWjh'kl dks lkSaik tkuk

2. ikd tyMe:eè; ukxifV~Vue&dkadslaFk qjkbZ 
ukSdk lsok fiQj ls 'kq: gksuk

3. fyfVy çsLik >hy tyHkjko {ks=k de gksrs tkuk

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d 	 (b)	dsoy nks 
	 (c)	 lHkh rhu 	 (d)	dksbZ ugha

	69-	fuEufyf[kr ij fopkj dhft;s%

	 1-	 f'k{kk 
	 2-	 dkS'khrdh 
	 3-	 fu#Dr 
	 4-	 dYi 

	 	mi;ZqDr esa ls fdrus osnkaxksa ds uke gSa\ 

	 (a)	 dsoy ,d	 (b)	dsoy nks 
	 (c)	 dsoy rhu	 (d)	lHkh pkjksa

	 70-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ,sgksy vfHkys[k esa g"kZo¼Zu ,oa iqydsf'ku&II ds 
chp ;q¼ dk o.kZu gSA

	 2-	 cksxtdbZ vfHkys[k Hkkjr dk lcls çkphu 
vfHkys[k gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa  	 (d)	u rks 1] u gh 2

	71-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjr esa vkjafHkd iqjkik"kk.k dky dk çFke lk{; 
xqtjkr ds ^cksjh* uked LFkku ls çkIr gqvk gSA

	 2-	 uoik"kk.k dky esa Ñf"k dk çkjafHkd lk{; ̂ esgjx<+* 
ls çkIr gksrk gSA

	 3-	 eè;ik"kk.k dky esa ̂ egngk* ls iq#"k&L=kh dks ,d 
lkFk niQukus ds lk{; feys gSaA
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		  Which of the above statements is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 72.	 Consider the following pairs:

Ancient Name Modern Name
1. Karish Cloud
2. Parjanya Cow dung fertilizer
3. Takshan Carpenter
4. Bhishaj Physician

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four

	 73.	 Consider the following statements regarding 
‘Jainism’:

	 1.	 Both warfare and agriculture are prohibited 
in Jainism.

	 2.	 Jainism does not believe in rebirth.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 74.	 Consider the following statements regarding 
‘Buddhism’:

	 1.	 Buddhism rejects the concept of God but 
believes in the soul.

	 2.	 Buddhism believes in rebirth.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 75.	 Consider the following statements:
	 1.	 Megasthenes referred to Krishna as 

‘Dionysus’.
	 2.	 Megasthenes referred to Shiva as ‘Heracles’.

		  Which of the above statements is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 76.	 Recently, the Indian Prime Minister inaugurated 
the ‘Bidkin Industrial Area’ in which state?

	 (a)	 Gujarat
	 (b)	 Maharashtra
	 (c)	 Andhra Pradesh
	 (d)	 Madhya Pradesh

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2  	 (b)	dsoy 2 vkSj 3 
	 (c)	 dsoy 1 vkSj 3  	 (d)	1] 2 vkSj 3 

	72-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

çkphu uke vkèkqfud uke
1. djh"k ckny
2. itZU; xkscj dh [kkn
3. r{k.k c<+bZ
4. fHk"kt oS|

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d 	 (b)	dsoy nks 
	 (c)	 dsoy rhu 	 (d)	lHkh pkjksa 

	73-	^tSu èkeZ* ds lacaèk esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 tSu èkeZ esa ;q¼ o Ñf"k nksuksa oftZr gSaA
	 2-	 tSu èkeZ iqutZUe esa fo'okl ugha djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	74-	^ckS¼ èkeZ* ds lacaèk esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 ckS¼ èkeZ bZ'oj dh ekU;rk dks vLohdkj djrk 
gS] fdarq vkRek esa fo'okl djrk gSA

	 2-	 ckS¼ èkeZ iqutZUe esa fo'okl djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa  	 (d)	u rks 1] u gh 2

	75-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 esxLFkuh”k us Ñ".k dks ^Mk;ksfull* uke ls 
mfYyf[kr fd;k gSA

	 2-	 esxLFkuh”k us f'ko dks ^gsjkDyht* dgk FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2

	76-	gky gh esa Hkkjrh; çèkkuea=kh }kjk fdl jkT; esa ̂ fcMfdu 
vkS|ksfxd {ks=k* dk mn~?kkVu fd;k x;k gS\

	 (a)	 xqtjkr 
	 (b)	 egkjk"Vª 
	 (c)	 vkaèkz çns'k 
	 (d)	 eè; çns'k 
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	 77.	 Which of the following statements regarding the 
‘Oxygen Bird Park’ is NOT correct?

	 (a)	 Recently, the It was inaugurated in 
Hyderabad, Telangana.

	 (b)	 This park is part of an environmental 
initiative along the Nagpur-Hyderabad 
National Highway-44.

	 (c)	 The park features fast-growing and oxygen-
releasing trees.

	 (d)	 The park aims to reduce air pollution and 
promote a healthy environment.

	 78.	 What is the term for the self-assembly of new 
multicellular structures from the skin cells of dead 
frog embryos?

	 (a)	 Anthrobots	 (b)	 Microvilli
	 (c)	 Xenobots	 (d)	 Cilium

	 79.	 Which of the following statements about ‘Rosh 
Hashanah’ is NOT correct?

	 (a)	 It is the Jewish New Year celebration.
	 (b)	 It marks the beginning of the Jewish month 

of Tishrei, which is the ninth month of the 
Hebrew calendar.

	 (c)	 It is also known as Yom Hadin (Day of 
Judgment).

	 (d)	 On this day, the shofar horn is blown in 
selected synagogues.

	 80.	 What is the capital of Tuvalu, a country severely 
threatened by rising sea levels?

	 (a)	 Vaitupu	 (b)	 Saniuta
	 (c)	 Fenua Tapu	 (d)	 Funafuti

	 81.	 Which of the following statements about 
‘Mahalaya’ is NOT correct?

	 (a)	 Mahalaya marks the beginning of the Durga 
Puja festival.

	 (b)	 Mahalaya is the day when Goddess Durga 
descends to Earth.

	 (c)	 On this day, artisans paint the eyes of Goddess 
Durga idols, known as ‘Chokhu Daan’.

	 (d)	 It signifies the end of the ‘Shukla Paksha’ 
and the start of the ‘Devi Paksha’.

	 82.	 Consider the following statements:
		  Statement-I:
		  Biofuels derived from organic materials such as 

agricultural waste and algae are considered 
renewable energy sources.

		  Statement-II:
		  Biofuels generally emit fewer greenhouse gases 

compared to fossil fuels.

	77-	^vkWDlhtu cMZ ikdZ* ds lanHkZ esa] fuEufyf[kr esa ls 
dkSu&lk dFku lgh ugha gS\

	 (a)	 gky gh esa rsyaxkuk ds gSnjkckn esa vkWDlhtu cMZ 
ikdZ dk mn~?kkVu fd;k x;k gSA

	 (b)	 ;g ikdZ ukxiqj&gSnjkckn jk"Vªh; jktekxZ&44 ij 
dh xbZ ,d i;kZoj.k igy dk fgLlk gSA 

	 (c)	 bl ikdZ esa rhoz o`f¼ okys ,oa vkWDlhtu mRlftZr 
djus okys isM+ yxs gq, gSaA 

	 (d)	 bl ikdZ dk mn~ns'; ok;q çnw"k.k jksdus ds lkFk 
LoLFk okrkoj.k dks c<+kok nsuk gSA

	78-	e`r es<+d Hkwz.kksa dh Ropk dh dksf'kdkvksa esa Lor% gh 
ubZ cgqdksf'kdh; lajpukvksa ds fuekZ.k dks D;k dgk 
tkrk gS\

	 (a)	 ,aFkzksckWV~l 	 (b)	ekbØksfoyh 
	 (c)	 tsukscksV~l 	 (d)	flfy;e

	79-	^jk'k g'kukg* ds lanHkZ esa] fuEufyf[kr esa ls dkSu&lk 
dFku lgh ugha gS\

	 (a)	 jkW'k g'kukg ,d ;gwnh uoo"kZ gSA
	 (b)	 ;g ;gwnh eghus frJh dh 'kq#vkr dk çrhd gS] 

tks fgCkzw dSysaMj ds vuqlkj 9ok¡ eghuk gSA 
	 (c)	 jkW'k g'kukg dks ;kse gkfnu (U;k; dk fnu) ds 

:i esa Hkh tkuk tkrk gSA
	 (d)	 bl fnu pqfuank vkjkèkuky;ksa esa 'kkWiQj gkuZ ctk;k 

tkrk gSA

	80-	leqæ ds c<+rs tyLrj ds dkj.k xaHkhj :i ls [krjs 
dk lkeuk dj jgs ̂ rqokyq* ns'k dh jktèkkuh fuEufyf[kr 
esa ls dkSu&lh gS\

	 (a)	 ok;rqiw 	 (b)	lkfumrk 
	 (c)	 iQsuqvk Vkiw 	 (d)	iQqukiQqVh 

	81-	^egky;k* ds lanHkZ esa] fuEufyf[kr esa ls dkSu&lk dFku 
lgh ugha gS\

	 (a)	 egky;k nqxkZ iwtk egksRlo dh 'kq#vkr dk 
çrhd gSA

	 (b)	 egky;k og fnu gS] tc nsoh nqxkZ ìFoh ij vorfjr 
gqbZ FkhaA

	 (c)	 bl fnu dkjhxj nsoh nqxkZ dh vk¡[kksa ij jax yxkrs 
gSa] ftls ^pks[kw nku* ds :i esa tkuk tkrk gSA

	 (d)	 ;g ^'kqDy i{k* ds var vkSj ^nsoh i{k* ds çkjaHk 
dk çrhd gSA

	82-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 	dFku&I% 

	 	Ñf"k vif'k"V vkSj 'kSoky tSlh tSfod lkefxz;ksa ls 
çkIr tSo b±èku dks uohdj.kh; ÅtkZ lzksr ekuk tkrk gSA

	 	dFku&II% 

	 	tSo b±èku vkerkSj ij thok'e b±èku dh rqyuk esa de 
ek=kk esa xzhugkml xSlksa dk mRltZu djrs gSaA
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		  Which of the following is correct in respect of the 
above statements?

	 (a)	 Both Statement-I and Statement-II are correct 
and Statement-II explains Statement-I.

	 (b)	 Both Statement-I and Statement-II are 
correct, but Statement-II does not explain 
Statement-I.

	 (c)	 Statement-I is correct, but Statement-II is 
incorrect.

	 (d)	 Statement-I is incorrect, but Statement-II is 
correct.

	 83.	 What is India's rank in rice production globally?
	 (a)	 First	 (b)	 Second
	 (c)	 Third	 (d)	 Fourth

	 84.	 Consider the following statements:
	 1.	 The Hadley cell is formed by descending 

winds at 30 degrees north and south latitude.
	 2.	 In the absence of the Polar Cell, the polar 

regions will freeze.
	 3.	 The westerly winds blowing in the Ferrel 

Cell control subtropical ocean gyres.

		  Which of the above statements is/are correct?
	 (a)	 1 and 2 only 	 (b)	 2 and 3 only 
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 85.	 Consider the following statements:
	 	 Statement-I:
		  The number of platform-based gig workers in India 

increasing rapidly in recent years.
		  Statement-II:
		  The number of gig workers in India may increase 

from 7.7 million in the year 2020-21 to 23.5 million 
by the year 2029-30.

		  Which of the following is correct in respect of the 
above statements?

	 (a)	 Both Statement-I and Statement-II are correct 
and Statement-II explains Statement-I.

	 (b)	 Both Statement-I and Statement-II are 
correct, but Statement-II does not explain 
Statement-I.

	 (c)	 Statement-I is correct, but Statement-II is 
incorrect.

	 (d)	 Statement-I is incorrect, but Statement-II is 
correct.

	 86.	 Consider the following:
	 1.	 Nearchus	 2.	 Onesicritus
	 3.	 Aristobulus	 4.	 Sandrokottus

		  How many of the above mentioned writers came 
to India with Alexander?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four

	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 
lgh gS\

	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh O;k[;k djrk gSA

	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa] fdarq dFku&II] 
dFku&I dh O;k[;k ugha djrk gSA

	 (c)	 dFku&I lgh gS] fdarq dFku&II lgh ugha gSA
	 (d)	 dFku&I lgh ugha gS] fdarq dFku&II lgh gSA 

	83-	pkoy mRiknu ds ekeys esa Hkkjr fo'o esa fdrus LFkku 
ij vkrk gS\

	 (a)	 igys  	 (b)	nwljs 
	 (c)	 rhljs  	 (d)	pkSFks 

	84-	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1-	 30 fMxzh mÙkjh rFkk nf{k.kh v{kka'k ij gokvksa ds 

uhps mrjus ls gSMyh lsy curh gSA
	 2-	 iksyj lsy dh vuqifLFkfr esa èkzqoh; {ks=k te tk,axsA 
	 3-	 iQsj sy lsy es a cgus okyh if'peh gok,¡ 

mi&m".kdfVcaèkh; egklkxj xk;js dks fu;af=kr 
djrh gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2  	 (b)	dsoy 2 vkSj 3 
	 (c)	 dsoy 1 vkSj 3  	 (d)	1] 2 vkSj 3 

	85-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 	dFku&I% 

	 	Hkkjr esa IysViQkWeZ&vkèkkfjr fxx odZlZ dh la[;k fiNys 
dqN o"kks± ls rs”kh ls c<+ jgh gSA

	 	dFku&II% 

		 Hkkjr esa o"kZ 2020&21 esa 7-7 fefy;u fxx odZlZ dh 
la[;k o"kZ 2029&30 rd c<dj 23-5 fefy;u gks 
ldrh gSA 

	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 
lgh gS\

	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh O;k[;k djrk gSA

	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa] fdarq dFku&II] 
dFku&I dh O;k[;k ugha djrk gSA

	 (c)	 dFku&I lgh gS] fdarq dFku&II lgh ugha gSA
	 (d)	 dFku&I lgh ugha gS] fdarq dFku&II lgh gSA 

	86-	fuEufyf[kr ij fopkj dhft;s%
	 1-	 fu;kdZl 	 2-	vkWusflfØVl 
	 3-	 vfjLVkscqyl 	 4-	lSaMªksdksV~Vl 

	 	mi;ZqDr esa ls fdrus ys[kd fldanj ds lkFk Hkkjr vk, 
Fks\ 

	 (a)	 dsoy ,d	 (b)	dsoy nks 
	 (c)	 dsoy rhu	 (d)	lHkh pkjksa
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	 87.	 Which of the following rulers was the founder of 
the Satavahana dynasty?

	 (a)	 Hala	 (b)	 Satakarni-I
	 (c)	 Yagyashri Satakarni	(d)	 Simuka

	 88.	 Consider the following pairs:

Gupta Era 
Composition

Author

1. Vasavadatta Kamandaka
2. Nitisara Subandhu
3. Malati Madhava Bhavabhuti
4. Ganit Sara Sridhar

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four

	 89.	 Consider the following statements:
	 1.	 The text ‘Silappadikaram’ is known as the 

Tamil Bible.
	 2.	 Ovaiyar and Nachelliyar were prominent 

poetesses of the Sangam period.
	 3.	 The ‘Belnadan dance’ was performed in the 

worship of the Tamil god ‘Murugan’.

		  Which of the above statements is/are correct?
	 (a)	 1 and 2 only 	 (b)	 2 and 3 only 
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 90.	 Consider the following statements:
	 1.	 Mahmud Ghaznavi attacked the Somnath 

temple during the reign of Chalukya ruler 
Bhima-II.

	 2.	 Chalukya ruler Bhima-I defeated Muhammad 
Ghori.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 91.	 Which ruler was defeated by the Chola king 
‘ R a j e n d r a - I ’ t o  a s s u m e  t h e  t i t l e  o f 
‘Gangaikondachola’ ?

	 (a)	 Gopal	 (b)	 Devpal
	 (c)	 Dharmpal	 (d)	 Mahipal

	 92.	 Consider the following:
	 1.	 Jizya	 2.	 Zakat
	 3.	 Ushr	 4.	 Kharaj

		  How many of the above are religious taxes levied 
by Muslim rulers?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four

	87-	fuEufyf[kr esa ls dkSu&lk 'kkld lkrokgu oa'k dk 
laLFkkid Fkk\ 

	 (a)	 gky 	 (b)	'kkrd.khZ çFke 
	 (c)	 ;KJh 'kkrd.khZ 	 (d)	fleqd 

	88-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

xqIrdkyhu jpuk jpukdkj
1. oklonÙkk dkeand
2. uhfrlkj lqcaèkq
3. ekyrh ekèko HkoHkwfr
4. xf.kr lkj Jhèkj

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d 	 (b)	dsoy nks 
	 (c)	 dsoy rhu 	 (d)	lHkh pkjksa 

	89-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ^f'kyIikfndkje~* xzaFk dks rfey ckbfcy Hkh dgk 
tkrk gSA 

	 2-	 vksoS;kj vkSj uPpsfy;j laxe dky dh çfl¼ 
dof;f=k;k¡ gSaA

	 3-	 rfey nsork ^eq#xu* dh mikluk esa ^csyukMu 
u`R;* fd;k tkrk FkkA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3 

	90-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 pkyqD; 'kkld Hkhe&II ds le; egewn xtuoh 
us lkseukFk eafnj ij vkØe.k fd;k FkkA

	 2-	 pkyqD; 'kkld Hkhe&I us eksgEen xkSjh dks ijkftr 
fd;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1] u gh 2

	91-	pksy 'kkld ̂ jktsaæ&I* us fuEufyf[kr esa ls fdl 'kkld 
dks ijkftr dj ̂ xaxSdksaMpksy* dh mikfèk èkkj.k dh Fkh\

	 (a)	 xksiky 	 (b)	nsoiky 
	 (c)	 èkeZiky 	 (d)	efgiky 

	92-	fuEufyf[kr ij fopkj dhft;s%

	 1-	 tft;k 	 2-	”kdkr 
	 3-	 mJ 	 4-	[kjk”k 

	 	mi;ZqDr esa ls fdrus eqfLye 'kkldksa }kjk olwys tkus 
okys èkkfeZd dj gSa\  

	 (a)	 dsoy ,d 	 (b)	dsoy nks 
	 (c)	 dsoy rhu  	 (d)	lHkh pkjksa   
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	 93.	 Match the following pairs:

Sect Founder
1. Suhrawardi Shihabuddin
2. Firdawsi Khwaja Baqi Billah
3. Naqshbandi Badruddin

		  How many of the above are correctly matched?
	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None

	 94.	 Who among the following is the author of the 
medieval historical text ‘Nuskha-e-Dilkusha’?

	 (a)	  Anand Bhatt
	 (b)	 Bhimsen
	 (c)	 Amir Khusrau
	 (d)	 Minhaj-us-Siraj

	 95.	 Consider the following statements:
	 1.	 The Mughal ruler Shah Jahan introduced the 

‘Hijri calendar’.
	 2.	 The Mughal ruler Aurangzeb abolished 

the practice of ‘Sijda’ and introduced the 
practice of ‘Chahar Taslim.’

		  Which of the above statements is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 96.	 Consider the following statements:
	 1.	 The state of Awadh was founded by ‘Nizam-

ul-Mulk’.
	 2.	 The state of Karnataka was founded by 

‘Saadatullah Khan’.
	 3.	 The state of Hyderabad was founded by 

‘Saadat Khan Burhan-ul-Mulk’.

		  Which of the above statements is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 3 only
	 (d)	 1, 2 and 3

	 97.	 Which Governor-General abolished the practice 
of ‘Nar Bali’ (human sacrifice) prevalent in the 
Gond tribe?

	 (a)	 Lord William Bentinck
	 (b)	 Lord Ellenborough
	 (c)	 Lord William Amherst
	 (d)	 Lord Hardinge

	93-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

laçnk; laLFkkid
1. lqgjkonhZ f'kgkcqn~nhu
2. fiQjnkSlh [ok”kk ckdh fcYykg
3. uD'kcanh cn#n~nhu

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d 	 (b)	dsoy nks 
	 (c)	 lHkh rhu 	 (d)	dksbZ ugha

	94-	fuEufyf[kr esa ls dkSu eè;dkyhu ,sfrgkfld jpuk 
^uqL[kk&,&fnydq'kk* ds jpukdkj gSa\

	 (a)	 vkuan HkV~V 
	 (b)	 Hkhelsu 
	 (c)	 vehj [kqljks 
	 (d)	 feUgkt&ml&fljk”k 

	95-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 eqxy 'kkld 'kkgtgk¡ us ^fgtjh laor~* dks çkjaHk 
fd;kA

	 2-	 eqxy 'kkld vkSjax”ksc us ^fltnk çFkk* dks can 
djokdj ^pgkj rLyhe* dh çFkk vkjaHk dhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
 	 (d)	 u rks 1] u gh 2

	96-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 voèk jkT; dh LFkkiuk ^fu”kke&my&eqYd* }kjk 
dh xbZ FkhA

	 2-	 dukZVd jkT; dh LFkkiuk ^lvknrmYyk [kk¡* us 
dh FkhA

	 3-	 g Snjkckn jkT; dh LFkkiuk ^lvknr [kk ¡ 
cqjgku&my&eqYd* }kjk dh xbZ FkhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2 
	 (c)	 dsoy 3
	 (d)	 1] 2 vkSj 3 

	97-	fuEufyf[kr esa ls fdl xouZj tujy }kjk xksaM+ tutkfr 
esa çpfyr ^ujcfy çFkk* dks lekIr fd;k x;k Fkk\

	 (a)	 ykWMZ fofy;e csafVd
	 (b)	 ykWMZ ,ysucjks
	 (c)	 ykWMZ fofy;e ,egLVZ
	 (d)	 ykWMZ gkfM±x
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	 98.	 Match the following pairs:

Commission/
Committee

Description

1. Hunter 
Commission

To study the problems of 
Calcutta University

2. Raleigh 
Commission

S u g g e s t i o n s  f o r  t h e 
development of university 
education

3. Saddler 
Commission

S u g g e s t i o n s  f o r  t h e 
expansion of primary 
education

4. Hartog 
Committee

S u g g e s t i o n s  f o r  t h e 
development of primary 
education

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four

	 99.	 Consider the following statements:
	 1.	 Mahatma Gandhi proposed the resolution 

on the Non-Cooperation Movement at the 
Nagpur Session of Congress.

	 2.	 The Congress Calcutta Session reorganized 
provincial Congress committees on a 
linguistic basis.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	100.	 Regarding the ‘Government of India Act, 1935’, 
which of the following statements is NOT correct?

	 (a)	 This act established a federal government in 
India for the first time.

	 (b)	 Through this act, the system of dyarchy 
was maintained at the central and provincial 
levels.

	 (c)	 Through this act, Burma was separated from 
India.

	 (d)	 A federal court was established under this 
act.

	98-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

vk;ksx@lfefr fooj.k
1. gaVj vk;ksx dydÙkk fo'ofo|ky; dh 

leL;kvksa ds vè;;u gsrq
2. jSys vk;ksx fo'ofo|ky;h f'k{k k ds 

fodkl gsrq lq>ko
3. lSMyj vk;ksx çkFkfed f'k{kk ds çlkj gsrq 

lq>ko
4. gkVkZsx lfefr çkFkfed f'k{kk ds fodkl 

gsrq lq>ko

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	dsoy nks 

	 (c)	 dsoy rhu	 (d)	lHkh pkjksa 

	99-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 dkWUxzsl ds ukxiqj vfèkos'ku esa egkRek xkaèkh us 

vlg;ksx vkanksyu ls lac¼ çLrko is'k fd;k FkkA

	 2-	 dkWUxzsl ds dydÙkk vfèkos'ku esa çkarh; dkWUxzsl 

desfV;ksa dks Hkk"kk;h vkèkkj ij iquxZfBr fd;k 

x;kA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 

	 (c)	 1 vkSj 2 nksuksa  	 (d)	u rks 1] u gh 2

	100.	^Hkkjr 'kklu vfèkfu;e] 1935* ds lanHkZ esa] fuEufyf[kr 

esa ls dkSu&lk dFku lgh ugha gS\

	 (a)	 bl vfèkfu;e }kjk Hkkjr esa igyh ckj la?kkRed 

ljdkj dh LFkkiuk dh xbZA

	 (b)	 bl vfèkfu;e ds ”kfj;s dsaæ rFkk çkarh; Lrj ij 

}Sèk 'kklu ç.kkyh dks cjdjkj j[kk x;kA

	 (c)	 bl vfèkfu;e ds ekè;e ls cekZ dks Hkkjr ls 

i`Fkd dj fn;k x;kA

	 (d)	 bl vfèkfu;e ds rgr ,d la?kh; U;k;ky; dh 

LFkkiuk dh xbZA


